
0
20
40
60
80

100
120
140

net = Ref | scenario = 1d_diff_disp net = Ref | scenario = 1d_diff_burgers net = Ref | scenario = 1d_diff_kdv net = Ref | scenario = 1d_diff_ks_cons net = Ref | scenario = 1d_diff_ks

0
20
40
60
80

100
120
140

net = Conv;34;10;relu | scenario = 1d_diff_disp net = Conv;34;10;relu | scenario = 1d_diff_burgers net = Conv;34;10;relu | scenario = 1d_diff_kdv net = Conv;34;10;relu | scenario = 1d_diff_ks_cons net = Conv;34;10;relu | scenario = 1d_diff_ks

0
20
40
60
80

100
120
140

net = UNet;12;2;relu | scenario = 1d_diff_disp net = UNet;12;2;relu | scenario = 1d_diff_burgers net = UNet;12;2;relu | scenario = 1d_diff_kdv net = UNet;12;2;relu | scenario = 1d_diff_ks_cons net = UNet;12;2;relu | scenario = 1d_diff_ks

0
20
40
60
80

100
120
140

net = Res;26;8;relu | scenario = 1d_diff_disp net = Res;26;8;relu | scenario = 1d_diff_burgers net = Res;26;8;relu | scenario = 1d_diff_kdv net = Res;26;8;relu | scenario = 1d_diff_ks_cons net = Res;26;8;relu | scenario = 1d_diff_ks

0
20
40
60
80

100
120
140

net = FNO;12;18;4;gelu | scenario = 1d_diff_disp net = FNO;12;18;4;gelu | scenario = 1d_diff_burgers net = FNO;12;18;4;gelu | scenario = 1d_diff_kdv net = FNO;12;18;4;gelu | scenario = 1d_diff_ks_cons net = FNO;12;18;4;gelu | scenario = 1d_diff_ks

0 25 50 75 100 125 150 175 200
sample_rollout_numpy

0
20
40
60
80

100
120
140

net = Dil;2;32;2;relu | scenario = 1d_diff_disp

0 25 50 75 100 125 150 175 200
sample_rollout_numpy

net = Dil;2;32;2;relu | scenario = 1d_diff_burgers

0 25 50 75 100 125 150 175 200
sample_rollout_numpy

net = Dil;2;32;2;relu | scenario = 1d_diff_kdv

0 25 50 75 100 125 150 175 200
sample_rollout_numpy

net = Dil;2;32;2;relu | scenario = 1d_diff_ks_cons

0 25 50 75 100 125 150 175 200
sample_rollout_numpy

net = Dil;2;32;2;relu | scenario = 1d_diff_ks

Sample Rollouts, seed=0


